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ECONOMICS
(Honours)
Paper — V
Full Marks — 90
: Time : 4 Hours ,
he q,Uestions are of equal value for any group / half.
The figures in the right-hand margin indicate marks.

Cand:dates are required to give their answers in
their own words as far as practicable.

" lllustrate the answers wherever necessary.

‘ FIRST HALF

(Ptjblic Economics and Environmental Economics)
" Group - A

Answer any five questions : 2x5

1.. (a) Give examples of positive and negative
' externalities in production.
(b) What is Laffer Curve?
(c) Distinguish between public good and private
good.
(d) Distinguish between progressive taxation and
proportional taxation.

P.T.O.



(e) Distinguish between optimum budget and
balanced budget.
{f} What is WTP?

(g) Differentiate between fiscal deficit and
budget deficit.

Y
H

(h) Explain briefly the concept of vertical equity
under the ability to pay principle of taxation.

Group - B

Answer any three guestions : o5x%3

2. Discuss the role of fiscal policy in a developing
economy.

Write the characteristics of public goods,
What is GST? Explain the advantages of GST.

Write a note on optimal level of pollution.

o 0 AW

Is there any difference between the burden of an
internal debt and that of an external debt?

7. Write a note on free-rider problem and government .
intervention.

Group - C
Answer any two questions : 10x2
8. Explain the different companents of budget.

9.  Critically discuss the solution proposed by Lindhal
regarding the optimal provision of public goods.
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10. Discuss the advantages and disadvantages of
expenditure tax vis-a-vis those of income tax.

11. Do‘: you think that an indirect tax imposes an
excess burden on a typical consumer compared
with direct tax of equal yield ? — Discuss

SECOND HALF
(Mathematical Economics)
Group - A
Answer any five questions. 2x5

1. (a) Set up a "diet problem" as a standard
example of LPP.

('b) What is the difference between primal and
: dual problems in LPP.

;'(c) Find Price elasticity of demand for the
' demand function P = 130 — 3q at g = 35.

f (d) What do you mean by surplus variables in

‘ the context of LPP ?

'(e) The total cost function of a firm is C=2¢°-
3g2+12q. Show that at the minimum point of
the AC curve, the average cost equals the

marginal cost.

(f) The production function is given by
Q=AL¥* K" What is the nature of returns
to scale?
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(@) Check whether the function given below is
homothetic or not : 2 log x + 3 log v.

(h) What is Benefit Cost ratio?
Group — B
Answer any three questions 5% 3

2. Formulate the dual of the following LPP :
Min C = 10x, + 14x,
Sub to X, +2X,> 6
X, t+ 5)(22 4
3)(1 X, o 3
X, X, > 0
3. Consider the macro economic model :
C =89 + 0.6y
| = 120 — 150r
M3 = 275
MP= 240 + 0.1y + 250r
Determine equilibrium values of y and r and
derive IS and LM equations.

4. Distinguish between Leontief open and closed
model.

5. The demand and supply functions of a commodity

20 -
3 P and QS = g— respectively.

are given by QP=
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6. If the commodity is sold a perfectly competitive
market what will be the4 amount of consumer’s

surplus ?
Consider the following input-output matrix :
Agricuiture | Manufacturing | Services
Agricﬁlture 0.2 0.3 0.2
Manufacturing 0.4 0.1 0.2
Services 0.1 0.3 0.2

The final demand for agriculture, manufacturing
and service sectors are 10.1, 5.3 and 56
respectively. Find out the output produced in the
‘three sectors.

e 5' Compare the NPV and IRR methods of investment
- appraisal.

. Group - C
Answer any two questions : 10 x 2

8. (i) Explain what do you mean by basic and
non-basic variables in LPP.

| (i) Solve the following LPP by simplex method:

Max Z = 7x, + 5X,

Sub to X, + 2%, £ 86
4x. + 3x, < 12
X, Xy > 0
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10.

1.

Let the utility function and the budget courtraint
of a consumer be given by :

U=xyand Pysx + Py ¥ = 100 respectively
(i)  Find the individual demand for x and y.
(ii) Show that these functions are homogenieous

of degree zero in absolute prices and
income.

Consider the following Leonlief system where the
input-output coefficient matrix is given by :

[0.1 0.3 0.2}
104 01 03
[0.3 0.5 0.2J

(i) Check whether the system satisfies the
Hawkins-Simon conditions.

(i) Give the economic interpretation of the
condition.

A revenue maximising monopolist requires a profit
at least Rs. 1500.00. His demand and cost
functions are P = 304 —2q and C = 500 + 4q +
8g. Determine output leve! and price. Contrast
these values with those that would be achieved
under profit-maximisation.
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Bengali Version
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(Public Economics and Environmental Economics)
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(o) viftmm Rfogeeem W fda w1 92
P =130 - 3q @k q = 35.
(%) Surplus Variables ¢
(8) %D TR @ T7 AR T C=2¢°~36°+12q |
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2 log x + 3 log .
(&) Benefit Cost rati — FICF G2
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@ @ie fo=ib aew Tew W) 5x 3

o FRRe LPP wweana s Dual e Wl o
Min C = 10x, + 14x,
Sub to X, * 2x, > 6
X, + 5x22 4
3)'(1 + X, > 3

X, X5 2 0
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3. fferfie wmdss wietafes woee o= —

C =89 + 0.6y
| =120 — 150r
MS = 275

MP = 240 + 0.1y + 250r
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